1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN

ACCORDANCE WITH THE 2017 (6th EDITION) OF THE FLORIDA BUILDING CODE. THIS STORM PANEL SHALL NOT BE INSTALLED AT
HIGH VELOCITY HURRICANE ZONES (MIAMI—DADE / BROWARD COUNTIES).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE ABOVE MENTIONED CODE,

FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7—10 FOR INSTALLATIONS UNDER 2017 FBC AND SHALL
NOT EXCEED THE MAXIMUM (A.S.D.) DESIGNPRESSURE RATINGS INDICATED ON SHEETS 5, 10 THRU 15.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7—10
SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS  BY MULTIPLYING THEM BY 0.6 IN ORDER TO
7O COMPARE THESE W/ MAX. (A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 10 THRU 15.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS
USED FOR VERIFICATION OF FASTENERS IN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.1.2
OF THE ABOVE MENTIONED CODE AS PER ATL REPORTS # 1128.01-00 AND #0610.02—-05, AS PER IMPACT TESTING EQUIVALENT

TO ASTM E—1996 STANDARD & ASTM E 330-02 STANDARD, LIMITED TO INSTALLATIONS WITHIN WIND ZONES 1, 2 & 3 AS
DEFINED BY ASTM E—1996 STANDARD.

P.ED. AS TESTED WERE NOT OVER STRESSED, A 33%
NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS

)

- ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5052-H32 OR 3004—H34 ALLOY.

2

ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED.

- ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AlS| SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER

DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W,/ FLORIDA BUILDING CODE
SECTION 2411.3.3.4.

BOLTS TO BE ASTM A—307 GALVANIZED STEEL OR AlSI 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH.
ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(4) TO EXISTING POURED CONCRETE:
— 1/47 @ TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX.

- 1/4" 8 x 7/8" CALK—IN ANCHORS OR ELCO male & female "PANELMATE” AS MANUFACTURED
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.

1/47 ¢ x 3/4” ALL POINTS SOLID—SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

NOTES:
A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON AND ELCO PANELMATE ANCHORS IS 1 3/4":

A2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO

STUCCO SHALL BE PERMITTED. 1/4"8—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST,
AND 17" MINIMUM FOR WALLS WITH NO STUCCO.

A.3) MINIMUM EMBEDMENT OF 1/4"8 x 3/4" ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE POURED
CONCRETE. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” #-20 S.S. MACHINE SCREW USED SHALL BE
1.1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

A.4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR
FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE
SHALL BE AS INDICATED ON NOTES A.1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:
- 1/4" @ TAPCON ANCHORS AS MANUFACTURED BY [T.W. BUILDEX.

- 1/4" @ x 7/8" CALK—IN ANCHORS OR ELCO male & fernale "PANELMATE” AS MANUFACTURED
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.

- 1/4" @ x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON AND ELCO PANELMATE ANCHORS INTO CONCRETE BLOCK
UNIT SHALL BE 1 1/4"

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO

STUCCO SHALL BE PERMITTED. 1/4"8—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST,
AND 17 MINIMUM FOR WALLS WITH NO STUCCO.

B.3) MINIMUM EMBEDMENT OF 17470 x 3/4" ALL POINTS SOLID—SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE
BLOCK. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/47 8—20 5.S. MACHINE SCREW USED SHALL BE
1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL
BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON
NOTES IN B.1) AND B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 9 (SHEET 3 &
5 OF 15) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO

BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
BUILDINGS.

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT
WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

10. (o) THIS P.ED. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC

PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT, BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS
DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR’S RESPONSIBILITY.

(c) THIS P.E.D. WILL BE CONSIDERED INVALID IF ALTERED 8Y ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME
THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WiLL BE RESPONSIBLE FOR THE PROPER USE OF THE

P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER
THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT

PREPARED IT.

11. SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDANCE WITH
SECTION 1709.9.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABELING TO COMPLY WITH SECTION 1709.9.2 OF THE FLORIDA BUILDING CODE

THIS DRAWING SHALL ONLY BE USED TO

--u\\\\\\\\\\\\ OBTAIN PERMITS IN THE STATE OF FLORIDA
o e,
..../wmﬂ A. .:5» e
;...&4, .n.m’m.w... .&o&oﬂ
ua : . 44167 FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
3 ; H * ©2017 TILTECO, INC. 0.040" BERTHA ALUMINUM STORM PANEL Le
\Q\u\% STATEOF /g § (2.25” DEEP) oRARN B
= & N
S S R 07/25/17
L O ALORIDR EASTERN METAL SUPPLY, INC | “72%
= .m..m.\ N ﬂkn.v o ILIEC O e 4268 WEST ROADS DRIVE
=, OZ)—-ﬂ .-.». _ WEST PALM BEACH, FL. 33407
e L Bt Do St e COMPANT: PHONE: (561)209—-8263, FAX: (561)841—1716 17-094
Phone : ﬁ.wnﬁwvmwalumwmw_mmwuwm.. (305)871-1531 Frey prrer— A =P o T DRAWING No
YeLompa Lo g 44167 T o SHEET 1 OF 15




DETAIL 1: swo w/ oiE cast zing

_ 14.845" (TOTAL WIDTH) —— (-———8.845" (TOTAL WIDTH) |
, 12.000" (EFFECTIVE WIDTH)—— —_ 6.000
w0 ¢ hmwa- Ry 7 (EFFECTIVE WIDTH)
1.500 ——4.500" {500 4.500" { . 1.500T— 7
, X.@ AS APPLICABLE |

£
».\J:
&
— 2.125" |——3.891"—-| 2.125" -
FULL PANEL W/ HEMMED EDGES
———— 15.119" (TOTAL Em?crln_
ﬁ ————12.000" (EFFECTIVE WIDTH)——
1.500" — | — 4500"1.500 | 4

—1.500"

AS APPLICABLE |

, 4.500" { ;

(Typ.)

- 2.125" —

HALF PANEL W/ HEMMED EDGES

E 9.119" (TOTAL WIDTH)
f 6.000" 7

(EFFECTIVE WIDTH) |
4.500" _
|

—
|

q:mom_..ll_ _

AS APPLICABLE
(Typ.)

~l 2.125" —3.891"— 21257 |-

OPTIONAL FULL PANEL W/0 HEMMED EDGES

-~ 2.250"

— 21257 |-~

OPTIONAL HALF PANEL W/0 HEMMED EDGES

(D STORM_PANEL

18757

11*' _l.B.mQ- OR .060"
|—.093"

NICKEL PLATED WING NUT

SCALE : 3/16" = 1™
t 374" g
$ OIS
T | - |
; [N ~
Il S ?
! T %
fe—— 3.000" Mox. _| L’JL;’.QQ.W-
(5)3”_ANGLE BUILD OUT BRACKET & 3/8" 8. 0.
souE < 30" - 1- *F* TRACK
SCALE : 3/8" = 1"
|—063"
H_ - 094"
- \IV - 1 -8317"
Iml 7 [
mmu.!_ ! T _
assd |4 ‘

J457
CL. Mi

(OPTION TO 10)

RIVETED TO ANGLE

.wun.ﬁ«. 1/4"® S. 5. STUD
\ & e 12" oC.

SCALE : 3/8" = 1~

emRma 7"x14” LONG WALL PLATE

SCALE: 3/16" = 1*

COMPONENTS

m po— m ey _»w\lu.a% Max. , 2.560 |
1 p _ ™" 125 W
[] w 1
I Ry | _~ro2s0 = o1z | 125" R.250"
7 7 N { | - = [ T %
. : : T 7 ;4 e
]
) M N 2 ALrzse \__ r20o" I |
v 9 |H,u : ~ R.125" Iﬁu Y s
Ly Q Q | Q % 9
- e S | | P —+8 N 8
S B =075 5 & B
% S o 7 075" H g | N
B | ]
, 140008842,
1 % ~N --u q\\\‘ N '
| . ..- 4\? ’- :5 = | _ | FULL R.
——2.340 GRS 7 = 2360
2 681" | '... ?.......mz..:.... &%lﬂ ‘ " = 2.651" |
§ D - < Se < R —— 2681
o, » N s h K3 b= @ 2y,
- » e ——
(@) h” HEADER § i, Y3) 3" Max. "U” BUILD ouT e
* m. SCALE : 3/8" = 1°
3
L &S
- . K
~LORIDN- S
tonaet® 4 ‘
v ]
%\oz}( m\ -“u
. . “ore00s00004""
| iy f, | |
i T 1 g s
1 : IE— i 3 ._
o 1 8 f i ALTERNATE S 1 } —
0N 9 Q 095" /\ LEG LOCATION Q o
= @ e W\ b SEE g
T T > JJ -+ — == | DETAIL 1 i
| ; o= _ _i
——1.950" . \ ALTERNATE : .
LocATION : —2.000"—
(7) REVERSED "F* ANGLE TRACK (8) “F” TRACK ANGLE  (9) 2”°x2” STUDDED ANGLE
SCALE ; 3/8" = 1" SCALE : 3/8" = 1" SCALE : 3/8" = 1"
3/16° (3)5/8"8 HOLES AT ¥z
ALUMINUM TOP LINE N3
FLATE \ N _J,
] L 1
| o— — & - —r— a 8
\ 7 5/16" HOLE doy
| H
oQ z
(2) 5/16” HOLES L | RYS — 8
AT BOTTOM LINE _ D = i i
FOR 1/4"6—20x1" W NE 7 - T
S.S. MACHINE SCREW TAPCONS | 5 7 i _
| ——2.250" —
o & 1
t = Min. .085 1 rﬁ . i - - »
3/16" —| J i | .
@ KEY HOLE WASHER B 12 "= SCALE: 3/16" = 17
J105-H154 Alum. ALLOY 14"

=1/ 4 FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
{e6 Locnow ﬁ [k ©2017 TLTECO, INC. 0.040" BERTHA ALUMINUM STORM PANEL Le
\ =— & (2.25” DEEP) S 2
SEE hoo i 07/25/17
y = e J g _ _ EASTERN METAL SUPPLY, INC DATE:
U“ll”l\\\\l””l\”\\\l._, = = - 1 —r m n o INC. mm%ﬁ#ﬂ.mm.m%%%ﬂ_.u@wwg
.000" ! | Wi H, -
@ 2°x5"(MAX. )x1/8" ) B v, e e SACMCERINC COMPANY PHONE: (561)209-8263, FAX: (561)841-1716 17-094
Phene : ﬁuou\_mvm._mm%u Wm.nw“ @ (305)871-1531 P Fre—— T P Py BT DRAWING No
oz /7 soie - 7 vk T o e e . sweer 1x or 15




— TOP TRACK
(SEE COMPONENTS, SHEET 1A OF

CONCRETE ANCHORS (SEE SCHEDULE) |

o
o]
o
(o]
(o]
o

15)

I
3
I

|

1

I

I

|

1

|
=4
I
= L
I
=
|

|

I

1

I

|

I
N
|

!

I

I

I

1
|
B
I

|

I

]

I

I

|

1
|
!

I
|
I
o)
I

I

|
1
I
1
I
F—
I
]
I

I

I
-1
I
1
I
—f—-
I
——
I
I
2
I
I
)
I
4
I
|
I
I
I
1
i
|

y |

_ [
ICAMARNNECh e

PANEL LENGTH (SEE SCHEDULE ON SHEET 10 OF 15)

T

CONCRETE ANCHORS (SEE SCHEDULE) ﬁ

‘.,_\,W ” _ : _..Mw ”» I|A
ax. ax.
1 Min. 1 Min.

— BOTTOM TRACK

STORM PANEL TYPICAL ELEVATION

SCALE : 1/8" = 1"

(Dr

N TN TN TN TN TN N T

=—1/4" Max. GAP /4" Max. 9%4._

(SEE COMPONENTS, SHEET 1A OF 15)

o\ %
‘ ,g,sb“

ol

‘-\\\\_\\\\\\\\\

A Tl e,

L LT

SSRENSY

No.

. STATEQF, ¢ Bod
- LORIODA S

%%\Qz..)’i m¢ .a_——'
I

3
\
o

)

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

0.040" BERTHA ALUMINUM STORM PANEL

h ©2017 TILTECO, INC. .. LcC,
(2.25” DEEP) DRAWN BY:
07/25/17
SECTION A-A _ _ EASTERN METAL SUPPLY, INC PATE:
——I mno INC. xmmmmm ﬁmmwx%nowhumamw
” » PALM BEACH, . 3340
SCALE : 1/8" = 1 o e B S S ACERING COMPANT. PHONE: (561)209-8263, FaX: (5618411716 17-094
Phene : ﬂgmuhu_mmnlu%ua.mﬁﬁn“.ﬂ. (305)871-1531 . prr= s e DRAWING No
zmwmm_w@% cm.ﬁvﬂ unﬂ%wm », R 4 u SHEET 2 OF 15




POURED —
CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

TAPCONS, ELCO male/

fernale PANELMATE OR
CALK—IN ANCHORS

(SEE SCHEDULE FOR SPACING).

POURED
CONCRETE
REQUIRED

el

1

A |

®

I\ ——

T 17 MINIMUM —]

SEPARATION TO _

EXISTING GLASS |

POURED |\\

CONCRETE

OR CONCRETE

BLOCK WALL
REQUIRED

N

45

—

Cont.

——— ——————Moax. PANEL LENGTH (SEE SCHEDULE) —

i
‘,

/
| ————
TAPCONS, ALL POINT SOLID-SET,!

ELCO male/ female PANELMATE
OR CALK—-IN ANCHORS
(SEE SCHEDULE FOR SPACING).

—

(=}
Lj

_,_
|
*

S .

s

SECTION @ ANCHOR

:

ﬁ 7/8"% x 3/32"
WING NUT @

_ 127 0. C.

m{ﬂ;

9) Cont.

SECTION @ STUD

WALL MOUNTING INSTALLATION

SECTION 1

SCALE : 3/8" = 1"

/
\ /I@ Cont.

TAPCONS, ELCO male/

female PANELMATE Omf
CALK—IN ANCHORS _/

(SEE SCHEDULE FOR SPACING).

\
\

TAPCONS, ALL POINT SOLID-SET OR @Im
ELCO male/ fernale PANELMATE Cont. ,_
OR CALK—IN ANCHORS \

(SEE SCHEDULE FOR SPACING). "\

/4" 8-20 x 3/4" S.SMS.

45\9%% x 0.675 x

1/8” sq.

SCREW HEAD AND W/7/8" x

\

/u\um- WING NUT @ 12" o.C.

POURED

CONCRETE A _
REQUIRED /

-
F 1" MINIMUM ———

SEPARATION TO
EXISTING GLASS 7

|
_
| |
|

| Ssms
W/ 7/8" 8 x 3/327),
WING ‘NUT @ _
12" 0. C.

\
POURED —
CONCRETE
OR CONCRETE
BLOCK WALL

1/4* -20 x 1"

N
- /
POURED S
CONCRETE —— .
REQUIRED 2
N
AN}

SEPARATION TO
7 EXISTING GLASS

S

: r
r 17 MINMUM —] [

—

\
v

~—— ——————Max. PANEL LENGTH (SEE SCHEDULE) ——

REQUIRED

_——

TAPCONS, ELCO male//
female PANELMATE OR \
CALK—IN ANCHORS

\
(SEE SCHEDULE FOR SPACING). /L\)

®

WALL MOUNTING INSTALLATION

S.S.M.S. _
W/ 7/8" 6 x 3/327 |
WING 'NUT © | |
12" 0. ¢
|
|
s 2 p
POURED — 4
CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED I
1
/ A
[~
TAPCONS, ELCO male// @ °
fenale FPANELMATE OR !

CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING).

SECTION 2

SCALE : 3/8" = 1~

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEETS 10 OF 15)

~— Max. PANEL LENGTH (SEE SCHEDULE) —

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

7 1/47 6-20 x 1" IJ _ 7

———— Max. PANEL LENGTH (SEE SCHEDULE) —

\

/ 6 ) Cont.

WALL MOUNTING INSTALLATION

SECTION 3

.‘\.\WM%\- m mwﬁ_ m\J —%

00002002097

SCALE ; 3/8" = 1"

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

0.040" BERTHA ALUMINUM STORM PANEL

©2017 TILTECO, INC. L
(2.25" DEEP) DRAWN BY:
07/25/17
I_I_, EASTERN METAL SUPPLY, INC PWTE:
——I m o o INC. 4268 WEST m%no\__bm DRIVE
WEST PALM BEACH, FL. 33407
mwwwhﬁ; mmwaﬁn mﬁ umw_ ﬂ.u%ﬁ.&hm@m.n%ﬂ.hwhﬁm PHONE: (561)209-8263, FAX: (561)841—1716 17-094
Phene : E&Ewmﬁmﬁum‘.mum_wﬂm (305)871-1531 F T g —_ DRAWING No
WALTER A. TILLIT Jr. P.E. ! OLD 15-042  |07/25/17] 3

FLORIDA Lic. # 44167 2

4

SHEET 3 OF 15




CALK—IN, ALL POINT SOLID—SET OR
ELCO moale/female PANELMATE [7/8% x 3/32*
@ 1/4"8—20 SIDEWALK BOLT OR @ WING NUTS @ 12" O.C.
MQ W/1/4°8-20 TRUSSHEAD BOLT + + |
(SEE SCHEDULE FOR SPACING) — (

\ 7

TAPCONS, ALL POINT SOLID—SET,
ELCO male/female PANELMATE
OR CALK—IN ANCHORS

(SEE SCHEDULE FOR SPACING). "\

\
- - w\

POURED

g
CONCRETE i A
REQUIRED v f A
&\ Pivd \\\ vl |

|
7 |

| |
Y

N
¥ f

1" MINIMUM ,
| SEPARATION TO | ,
EXISTING GLASS |

| O
| | |
POURED \%\\Mg\\ \\\\\\ ‘

BLOCK WALL :
i _

REQUIRED
| —
TAPCONS, ALL POINT SOLID-SET Om\ “\

|
- 7/8% x 3/32"
WING NUTS @ 12" 0.C.

—1/4" 8-20 x 3/4" S. S. M. S.
W/ 0.675" x 0.675" x 1,/8" SQ.
SCREW HEAD AND W/ 7/87x3/32"
WING NUT @ 12" 0.C.

x\_\\

SEPARATION TO
7 EXISTING GLASS

-

T /\\ |
PR S | I
] | Sp—— _ 1
A I
7 I
o [ , |
POURED lﬁu
CONCRETE W _ .
REQUIRED _ | ,

_
_
_
fl 1" MINIMUM —— “
f
|
|

><

1 \J
1/4" -20 x 1" S.5.M.5.
W/ 7/8" 8 x 3/32"
WING NUT @ 12" 0. C.

Max. PANEL LENGTH (SEE SCHEDULE)

_ FINISHED WALL
| (W/ sTucco) \
1

Max. PANEL LENGTH (SEE SCHEDULE)

00
ﬁ POURED |\

[ BLOCK WALL
1 REQUIRED

ELCO male/female PANELMATE OR .
CALK—IN ANCHORS .
(SEE SCHEDULE FOR SPACING). \

7%

Cont.

WALL MOUNTING INSTALLATION

CONCRETE 2 \ _
OF CONCRETE Wi _

6

L

TAPCONS, ELCO male/ RI 7
female PANELMATE OR
CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING).

Cont.

WALL MOUNTING INSTALLATION

SECTION 5

(SEE SCHEDULE FOR SPACING).

TAPCONS, ELCO male/
fernale PANELMATE OR

CALK—IN ANCHORS /

Cont.

|| .500"

250"
= Mox.

7
f
i I\l”_
—= i H
7
POURED g
CONCRETE [}
REQUIRED

& SIS

1" MNmUM ———|
SEPARATION TO |
EXISTING GLASS

1/4"

3/32

_
\\\\\\\\\\
POURED |\ H

CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

74

EOLTS W/ 7/8% x

12" 0. C. | 7
|

e-20 x 3/4"
" WING NUT @ 11—

—— Max. PANEL LENGTH (SEE SCHEDULE)

5

ﬁH“\

TAPCONS, ELCO male/

female PANELMATE OR
CALK—IN ANCHORS

(SEE SCHEDULE FOR SPACING).

BUILD OUT INSTALLATION

. SCALE : 3/8" = 1"
SECTION 4 SOALE & R o, SECTION 6  souc: sy - 1
S
=
m r c-.o Q .l'
% -,
NS¢ Y
- 5 kS
E D. = EDGE DISTANCE 5 :
(SEE_SCHEDULE ON :
SHEETS 10 OF 15) . §
S8 . . .
Y- FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
. o!ov.....* & ©2017 TILTECO, INC. 0.040" BERTHA ALUMINUM STORM PANEL Le.
e, .
+ + =, .mu.m.\ M Jr&/ 4 4 (2.25" DEEP) DRAWN BY:
SIDE_WALK BOLTS ARE 3/49x3/32"THICK e, JONAL B 00 07725717
NOTE FOR COMBINATION OF SECTIONS : HEAD MACHINE SCREW W/LENGTH 2 t0000p40071?"" - EASTERN METAL SUPPLY, INC
AS PER NOTES A.2 & B.2 (SHEET 1) i ——l — m o o e ’ DATE:
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE + + ; 4268 WEST ROADS DRIVE
4 4 TRUSS HEAD BOLTS ARE 1/2"8x1/8"THICK WEST PALM BEACH, FL. 33407
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. HEAD MACHINE SCREW WAENGTE TILLIT TESTING & ENGINEERING COMPANY PHONE: (561)209—8263, FAX: (561)841-1716 17—-094
AS PER NOTES A.2 & B.2 (SHEET 1) T s 5o 350 ok ¢ (oA e T T e T T ORAWING o
EB-0006719 = =
WALTER A. TILLIT Jr. P.E. ! OD 15-042  M07/25/17] %
FLORIDA Lic, # 44167 2 : SHEET" 4 OF o8




CALK—IN, ALL POINT SOLID-SET OR
mﬁ% male/femole PANELMATE © D
W/1/4"6—20 SIDEWALK BOLT OR ©

W/ @) w/ 1/4%6-20
USSHEAD BOLT + +
(SEE SCHEDULE FOR SPACING)

[

NN

POURED
CONCRETE
REQUIRED

| A
, N

" MiNMUM |l
SEPARATION TO
EXISTING GLASS

7077
POURED \

Q
CONCRETE W
OR CONCRETE N
BLOCK WALL i
REQUIRED

,,whi‘ \\
EEFD

/1

TAPCONS OR CALK—IN ANCHORS b TAPCONS OR CALK—IN ANCHORS iy
(SEE SCHEDULE FOR SPACING). E D. < (SEE SCHEDULE FOR SPACING). E D%
POURED POURED /‘
- CONCRETE _]_ CONCRETE !
REQUIRED / REQUIRED
\\ o AT AT A A At g iw\ Jmplﬁ\\ ’ / SIS ?h@.lﬁlﬁwmo.kﬁﬂ\\\
4 111
7 7, % 2 %
| 1T | 2 ’
_ | | | »0_ |

SN E \\
f
E—D___

| \ |

| \

A g _

L||’{]LIL|‘ L

70007,

g o
- 3
g 3 g
3 1" MINIMUM | P * MINMUM | z
- SEPARATION TO o) SEPARATION TO || _ o
3 EXISTING GLASS Ly EXISTING GLASS | W
%] | I E | | I CE._
K | [ | Wt | i W\
U » | | = A || =
N

(G \V %]
m _ ¥ ] T m_ v T T m
2 L = W | B
4 _ | g | g
g ! , , g | [ g
3 n » | f : [ | [ :
g _ 7/8% x 3/32 X 7/8% x 3/32% | X
o WING NUT @ “ | —@ = _§>a. wre . .f_»
g 127 0. C. _ [ |12 0. C | @
i | | ! | m

—Q) _ | ALTERNATE — | . , 7 , _
LEG | |

_ LOCATION \ Cont. i
ﬁ
i

7 /
1.000%4
! g
| P
TAPCONS OR CALK—IN ANCHORS —E& \W

\

CALK—IN, ALL POINT SOLID—SET %V
ELCO male/female PANELMATE @ (D)
W/1/4"9—20 SIDEWALK BOLT OR @
10 W/ Q) w/ 1/4%-20
TRUSSHEAD BOLT + +

(SEE SCHEDULE FOR SPACING)

WALL MOUNTING INSTALLATION (D. M.)

SECTION 7 SCALE : 3/8" =

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 10 OF 15)

_ (SEE SCHEDULE FOR SPACING). 4 TAPCONS OR CALK~IN ANCHORS— m.w\
P (SEE SCHEDULE FOR SPACING). I
CONCRETE CONCRETE
REQUIRED REQUIRED
ALTERNATE
CEILING & FLOOR MOUNTING CEILING & FLOOR MOUNTING
7 INSTALLATION — SECTION 8 INSTALLATION — SECTION 8A
SCALE : 3/8" = 1" SCALE : 3/8" = 1"

ALTERNATE CEILING & FLOOR MOUNTING INSTALLATION — SECTION 8A
.\h__.._._u OZC\ FOR Max. A.5.0 DESIGN PRESSURE RATING OF +70, —75

.'

....Aﬁﬂ > ..4‘

»
~ N0 mzu.m, cmo

TAPCONS OR CALK—IN ANCHORS |
(SEE SCHEDULE FOR SPACING).

POURED
CONCRETE
REQUIRED

&i

ALTERNATE
LEG LOCATION

I\

T 17 miNmum | !
SEPARATION TO |
. EXISTING GLASS

~ Max. PANEL LENGTH (SEE SCHEDULE) —

_ — 1] .llﬂl:l_\l :
NN
\ v »\\\\ Y, \\__ ﬁ “ ,/mmmmm_wﬂmﬂoz
POURED 4 )
CONCRETE il

TAPCONS OR CALK—IN ANCHORS |

REQUIRED \r,.“ - \
, .
| £

(SEE SCHEDULE FOR SPACING). y
57

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 9

SCALE : 3/8" = 1"

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

-h.
-
=l
(=]
N
»
2tecapesr?!’

0.040” BERTHA ALUMINUM STORM PANEL

©2017 TILTECO, INC. Lc
249 3 i DRAWN BY:
+ + » - 3 % ... g).nmg ...D.... ah. NM.NM Dmml_hy
. SIDE WALK BOLTS ARE 3/4"0x3/32"THICK = Py
NOTE FOR COMBINATION OF SECTIONS : FIEAD MACHINE SCREW W/LENGAT v.-c \N ORION. .- ¢~¢ o EASTERN METAL SUPPLY. INC 425/17
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE AS PER NOTES A2 & B.2 (SHEET 1) = .“W.\O..mdrn.v/ & ILIEC O inc 4268 WEST ROADS ORNE -z
ol =, ONAL .
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. TRUSS HEAD BOLTS ARE 1/2"ex1/8"THICK @, o’ TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 ¥
HEAD MACHINE SCREW W/LENGTH e ters0sasstt®"’ BIBBNN, S, (S She - Sn A e L PHONE: (561)209-8263, FAX: (561)841—1716 17-094
AS PER NOTES A2 & B.2 (SHEET 1) Phone : (305)871— G&ommwx : (305)871-1531 e —T = DRAWING No
EB-0006719 . il 2 e cerTon
WALTER A. TILLIT Jr. P.E. ! 0D 15-042  |07/28/17] 3
_FLORIDA Lic. # 44167 A 7 SHEET 5 OF 15




TAPCONS, ELCO male/
female PANELMATE OR

TAPCONS, ELCO male/
female PANELMATE OR

TAPCONS, OR CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING).

TAPCONS, OR CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING).

a = E D /
CALK—IN ANCHORS . /\ / E D .
CALK—IN ANCHORS ] _
(SEE SCHEDULE FOR SPACING). /| S . . (SEE SCHEDULE FOR SPACING). S o : A - il ﬁ
T ——fH 7 23 A 3 ﬁ REQUIRED _
N H 83 Bmn T l,ﬂ S k BEQUIRED —EO. 3 £0.— N \ e I ﬂ
| ———F— et 5 VNS R .-
POURED M . 7 ! _ f N = . T _ | e T
CONCRETE 1= g m
RECURED l/ i | | Cont. _ -um\\’\.\\\\\\\k\v f _ _ % : | | 7 % : |
; : _
k" s, , | : = |
_ _ " 7 LA , _ l@no:_". — _ 7 | ||®002.
| | _ ; 3 . | |
! 2 _
| | | | 3 | |
EXISTING | 7 \ ! R
GLASS o EXISTING | | : * 3 | 7 .
7 [ o GLASS _oJi MINIMUM —— | s N e "
7 _ RO,
. 5 SEPARATION TO | | o XD k. S8 | || 3 | 17 MINIMUM | 7|@
] I R I T e i TEmeE) ) 9
—— 1" MINIMUM — , A _ Al 9 = Sinnm o 5 3
| - | ¢ I » | Q
soe 1 : _ A =5 ey, ONAL BV | : A |
A | *J , 6. | fa 2rsspa 1Y | | 8 N — &
| v T 5 | \ | z A S | DETAIL 2 _ 4
_ [ g \ £ ! L g i 3=
_ L g | peraw 2 2 | || g oA | 5
= ! o Q
| - e o | u | S . N W
| 1/47 9-20x1" | ; < | T _ & , | ] ; , | g
BOLTS W/7/8"x | | 2 , % 17 MINIMUM g g
| 3/32" WING NUT @ |/ ¥ , g SEPARATION TO | m _ _ | _ _ X
12" 0. ¢ | \ ” | “ | . | ExisinG GLass | | , el , | 2
_ £ | N |
| \ | O | | | | | N
\\,4\ v , , | L 7/8" 8 x 3/32" _
_ | \ | f 1 _ WING NUT @ 7 _ | W
_ | \ | ! d | 12" 0. C. _ |
: . , 1/4" 6-20x1" , _ o ”
=) W - ” EDGE OF | 778" ¢ x 3/32" |
ooy e/ s e | e ¢ o BE || e
OR CONCRENE i | , [ e e | LOCATION « , A . "
BLOCK WALL % ; | noﬂwmwmk _ e T 1 /| bt 7
REQUIRED == — : - || g A7 oy i
T “oarws | e [T Zz T e e
. . \ (i g —— LOCATION
TAPCONS, ELCO male/ S REQLARED s | , A = / , — k
1> 7 \ i A p—| -
fenale PANELMATE OR . — — A _ | L POURED t = \ 27 7 ,
CALK~IN ANCHORS = — | / b
(SEE SCHEDULE FOR SPACING,). cont. / . — INTERIORLY REMOVABLE PANEL @v CEOoNEs  TAPCONS, OR  / ya i \ \ : ;.f - /
TAPCONS, ELCO male/ | 8 E\mn\wwﬁnﬂmwﬁmmm%mwxﬁﬂ Mvmmn Qmmmmzm\mﬂmuwww \ ED L E%m.o\ cauk wﬂ,mwomm A1 g “Siag 7\
: ! —f 0 ﬁ - \
SECTION 10A e / \ HOLES AT (6)@ 6” O.C & FASTENED FOR SPACING). - concrere (SEE SCHEDULE L APPLICABLE \
(SEE SCHEDULE FOR SPACING) vl (@9& AT REAR W/7/8%x3/32" WING NUT REQUIRED FOR SPACING). leplo \
’ . @ EVERY- SIDEWALK BOLT. INTERIORLY REMOVABLE PANEL (T)_\
W/SIDEWALK BOLTS (SEE DETAIL 2J
SECTION 11A

6

—

(]
S
N
)
J

%

w
pék
n"|
e

=N
3N
39

4

438" o
|

-—.875" g—~ ©

1/4"-20x1" 5.S. SIDEWALK BOLTS,
W/3/4” SLOTTED HEAD, FIXED TO
INTERIORLY REMOVABLE .uh?.rﬂ...@

SECTION 10B

THRU KEY HOLE (10) @ 6" O.C.
W/1/4"-20 NUT AT REAR.

REMOVABLE
PANEL

INSTA

WALL MOUNTING INSTALLATIONS

SECTIONS |

SCALE : 3/8" = 1”

LLATIONS VALID FOR PANELS (1) USED JOINTLY
WITH INTERIORLY REMOVABLE PANELS

SECTION 11B

CONNECTED TO THRU 5/87
HOLES AT 16 @ 6" O.C & FASTENED

CEILING & FLOOR MOUNTING INSTALLATIONS

AT REAR W/7/8"9x3/32" WING NUT
@ EVERY SIDEWALK BOLT.

SECTIONS

11

SCALE : 3/8" =

1

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

\ E. D. = EDGE DISTANCE ©2017 TILTECO, INC. Q Qu_mQ: mmmu.\qﬁ LHQ_}\\ZQQ ,m,w.o.mg\ s.UL__/\_D.l L.C.

3 (SEE_SCHEDULE ON 25" DRAWN BY:
18757~ SHEET 10 OF 15) (2.25” DEEP)

07/25/17

___l _ ECO EASTERN METAL SUPPLY, INC DATE:

NOTE FOR COMBINATION OF SECTIONS : INC. 4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
- - d TILLIT TESTING & ENGINEERING COMPANY 2 —
DETAIL 2 — INSTALLATION OF /471’ WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE 6355 AW, Jot, St S, 308 VIRGH (ARPERS 1. S90S PHONE: (561)209-8263, FAX: (561)841-1716 17-094
SIDEWALK BOLTS © REMOVABLE PANEL COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. Fos e o o R v DeSCRPTON o | rev e oEScRPTIon T ORAWING No
- 1t = " WALTER A. TILLIT Jr. P.E. 1 OLD 15-042 07/25/17] 3
SCALE 1T =T FLORIDA Lic. # 44167 3 p SHEET 6 OF 15




TAPCONS, ELCO male/

POURED
CONCRETE [>

REQUIRED &

N

L

.

A,

female PANELMATE OR
/ CALK—IN ANCHORS
S (SEE SCHEDULE FOR SPACING,.
n z ;
Q X
_ &3
" 1
)
_ 7 f
_ ,
3
| Cont
| ]
f _ f
7 |
,
| | |
g
| I
S
3
MINIMUM B L
SEPARATION TO _ | | &
EXISTING GLASS I =
&
_ )
LK// " Z
\ T =
/\ =J
_ _ ¥
_ Mu’
| 5
2
| |
el

POURED
CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

Les

TAPCONS, ELCO male/

fernale PANELMATE OR-
CALK—IN ANCHORS
(SEE SCHEDULE FOR
SPACING).

SECTIONS 12A

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEETS 10 OF 15)

1/4" ¢-20 x 3/4” |
BOLTS W/ 7/8%®x |
3/32" WING NUT © _ _
12" 0. ¢ | [

T
|

-~

(_.

WALL MOUNTING INSTALLATIONS

M
%

TAPCONS, ELCO male/
female PANELMATE OR
CALK—IN ANCHORS

3
& (SEE SCHEDULE FOR SPACING).
ISy

!

1

250"
Max.

o

POURED |
CONCRETE !

REQUIRED &
W

(1)1/4"-20x1/2" 5.5,

f

7_ siewaLk goit wy/ W |

1/4"-20 JACKNUT
7 (MOUNTING BOLT)

17 MINIMUM
SEPARATION TO
EXISTING GLASS

(3)1/4"-20x1/2" S.5.
: SIDEWALK BOLT W/
_ 1/4"-20 JACKNUT

(2) AT FRONT FLANGE

_ (2)1,/4"-20x1/2" S.5.
SIDEWALK BOLT W/
1/4"—20 JACKNUT EA.
OVERLAP FLANGE

| (3)1/4"-20x1,/2" S.5.
SIDEWALK BOLT W/

| 1/47-20 JACKNUT
(2) AT FRONT FLANGE

POURED . .
concrere = /]2 Q\zwm%ﬁmﬂw
OR CONCRETE — 4 | n 7
BLOCK WALL
REQUIRED
..\_q’\ “
R

TAPCONS, ELCO Bn\m\_ #
femnale PANELMATE OR
CALK—IN ANCHORS
(SEE SCHEDULE FOR
SPACING).

_\ﬂ\k.?moxu\a._
BOLTS W/ 7/8"8x |~ _

1

— 13
- Max. PANEL LENGTH (SEE SCHEDULE)

L/3

SECTIONS 12

SCALE : 3/8" = 1"

SECTIONS 12B

INSTALLATIONS VALID FOR PANELS (1) USED JOINTLY
WITH INTERIORLY REMOVABLE PANELS (1

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

WALL REQUIRED

— 2 ]
, 3 MAX \
L
POURED CONCRETE / / 1/4"6x7" ELCO male
OR CONCRETE BLOCK - \_ PANELMATE TVAS ANCHORS

BUILD OUT INSTALLATION

SECTION 13

SCALE : 3/8" = 1"

3 1/2"
MAX
EXISTING
BRICK
VEENER

(SEE SCHEDULE FOR SPACING).

©2017 TILTECO, INC.

4 hM Vs v / /
bV
< S 3 1727 /m\smu%
MAX MAX BRICK VEENER
2 < o 112" MmN ] v
f PENETRATION 5
3 |
4
.__m_ MOu @Ooun
4] ] — — H 2] 2
A ﬂ A (o) P 7] ¥ QX
/ £ / F H / qzu;_m
& ® | / ~ : —
§ | |
Q
< S | _
4 \ 4 2 7
d _ |
| _
L _ , _
] J1/4%8x7" ELCO f _ 7
POURED CONCRETE | | male PANELMATE TVAS | pocmun _ ! ”
OR CONCRETE BLOCK - — ANCHORS (SEE — STEEL ANGLE LINTEL
WALL REQUIRED SEHEDULE FoR AS APPLICABLE _ LA
I SPACING). Wi
] 1" MINIMUM SEPARATION | _ 7
|| \ TO EXISTING GLASS PA -
.| LY |/ // |
| / VT 7
! | | | 7
Y
= ! | m
1 |
/ /m , | &
g
ISTING _ . =
_ EXi | ~
= [~ BRICK SILL s
- . ;\x 1/4" 8-20 x .w\n..ﬁ.. | | g
. ﬁ [ It o BOLTS W/ 7/8"0x , 58
e s [ 3/32" WING NUT @ —— , 2
. | | 12" 0. ¢ _ |
s _
: YT 1/4" MIN. : | _ | _
_ " PENETRATION TO . “. & \ 7 |
|- (coNcRETE Eené) . exstve | | D
& 1°1/2" 70 L FLASHING IF | | [
. | . (CONCRETE) / APPLICABLE | | |
[ .t
. J\
. [ I I D A
| ’ I _ \
i
| / . . .\\ #
/n . H\. . . ,-

.
tcsacn®

___._mnO INC.

TILLIT TESTING & ENGINEERING COMFANY
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166

Phone : (305)871—1530 . Fox : (305)871— 1531

3 % S
..04' »A.w.. XN.G I_ﬂ.... @4&\.’-
FLORIDA BUILDING CODE (Non High sldONALE oatte Jgatte Zone)

0.040” BERTHA ALUMINUM .m.w.gmuﬁ ‘Mamm LC.
(2.25” DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC | /%7

258 WEST RORDS DRIVE
PHONE: «mmtmmwwmww,b% _p..en.h .«%%UNTQG 17-094
REV. No DESCRIPTION DATE | REV. Mo DESCRIPTION DATE DRAWING No
' oD 15-042  |07/25/17] 3

EB-0006719
WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

4

SHEET 7 OF 15




(1)1,/4"-20x1/2" S..
SIDEWALK BOLT W/
1/4"-20 JACKNUT
(MOUNTING BOLT)

(3)1/4"-20x1/2" S.S.
SIDEWALK BOLT W,/

1/47-20 JACKNUT
(2) AT FRONT FLANGE

(®

M 1/4" Max. GAP /4" Max. GAP
3" CONCRETE ANCHORS (SEE SCHEDULE 3
\_.\.w.ﬂx. _ IR / Hmm.u .. j 1 N3 J N
- L > i A AN AN A WA Wi
o / ) o o \ H
|
2 L)
ol SECTION B-B
C,/ % Y | SCALE : 1/8" = 1"
A A ™
— , : 5> B
L
A A o AU O Q
2 + \W 7 = (WHOLE) (WHOLES) 1/4"-20x1" S.5 (WHOLE)
A : 5 o SIDEWALK BOLTS.
@/ 1 41 |4 ¥ % L~ o i [ SEE DETALLS 2/8,
wroce) | T b 1 v SHOWN. _ 2/14
T ¥ B ,< 7 ,<
b wHoLE) [ .
O 3 |
A Q) D
A\ A )\ W S M@W f@ #
3 ” ﬂ .\ = INTERIORLY REMOVABLE PANEL (T)
& \ ” = el | W/SIDEWALK BOLTS (SEE DETAILS
a@w ML, w., \ @ - E 5 2 2/6, 2,/14) CONNECTED TO (1) THRU
¥ + |41 S 2 ) 5/8"6 HOLES AT (6)@ 6" 0.C &
! , S o FASTENED AT REAR W/7/8"8x3/32"
K \ - ; WING NUT @ EVERY SIDEWALK BOLT.
A AL " @ Lile = =
| =
¥ x A |3 | 4 Ja \®o @ o
M
/ Uz = |
: m *Aom\m; 1B/8, |v_o> 6,11A/86,
E,/X ' 7 7 _, 10B/14,11B/1 10A K;i\j
& | f ﬁua 7 CONCRETE ANCHORS (SEE SCHEDULE) 7 3
o 9 o] = L M i
| /l@ * 2)1,/4"— ‘58
7 | W inys o INTERIORLY REMOVABLE STORM PANEL
Pi20/7.138/15 przsszase/s. | ez scaur e PARTIAL ELEVATION Y
3] CONCRETE ANCHORS (SEE SCHEDULE) | 3N (1/4"-20x1/2" S5 SCALE : 1/8" = 17
Mox. Max. \_ SIDEWALK BOLT W/
1 Min. 1" Min. 1/4"-20 JACKNUT ...:ﬂ..ﬂ&.m\\\\\
(2) AT FRONT FLANGE : .
INTERIORLY REMOVABLE STORM PANEL WSER 0 Wy,

ELEVATION X

SN %

’o 3 ", ’ =
SCALE : 1,/8" = 1" m M
” L) :
1/4” Max. GAP E Max GaP Pk Y
| $ \J
M N BN &
N &@ .% FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
)’\ / \ / N A o ©2017 TILTECO, INC. 0.040" BERTHA ALUMINUM STORM PANEL Lc.
Y/ ¢ .
N “o, ONALY .._uw- (2.25” DEEP) DRAWN BY:
2000000009 07/25/17
1 SPLICED PANELS _ — EASTERN METAL SUPPLY, INC po
mmnwu\oz mlm @ 1/3 OF L ——l moo INC. 4268 WEST ROADS DRIVE
. T ok iy B NE X EWCINEERING COMFANY. PHONE: ﬂ%ww\‘wmwmmmmwnﬁ% . Gummoqulwa 17-094
SCALE : 1/8" = 1~ Frons - (308831 1395 . Far (305)871- 1531 — T —— DRAWING No
EB-0006719 : BESCRION : eI
:.M.M.mﬂ\mb Mi__.w_.h“ wﬁq m.owm “ OLD 15-042 07/25/17] .” SHEET 8 OF 15




CUT PANEL

2" x 4" x 125"
3105—-H14 OR 6063—T6 ALLOY
Cont. Alum. ANGLE

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

w\

TR\

CONCRETE ANCHORS
@ 12 0. C.

SO
(]

)

500" Min.

CASE A (Plan)

SCALE: 1/4" = 1"

2" x 3" x .093" 3105 H-14 OR
6063—T6 ALLOY Cont. Alum. ANGLE
WITH ANCHORS @ 12" 0. C.

HALF PANEL 21/4" GAP

[

ll

CASE D (Plan)

SCALE: 1/4" = 1"

I
1.000" 1.000"

VAV

//</

POURED CONCRETE OR
CONCRETE BLOCK WALL
REQUIRED

N

VARIES 3"

|

VARIES 3"
Max.

4" x 4" x 072"
3105-H14 OR 6063-T6 ALLOY
Cont. Alum. ANGLE

CASE B (Plan)

SCALE: 1/4" = 1”7

W/ JACKNUT

Min.
POURED CONCRETE -—150 " X "
| ’
OR CONCRETE BLOCK (REQ'D)
WALL REQUIRED f
AN

|

"N\
CASE E (Plan) *

SCALE: 1/4" = 1"

nocmmunaz%ﬂm
%naa%ﬂm mSQq’/
WALL REQUIRED

2.500" Min.
CONCRETE ANCHORS j 2.500
@ 127 0. C. Min.

NN

SOONNNANN

e s

,
1.000"

\

2" x 2" x .055" TO ALTERNATE LEG LOCATION
2" x 5" x .055" Cont.
Alum. ANGLE OR

.080" 3105—-H154 SHEET

METAL Alum. BENT PLATE

CASE C (Plan)

SCALE: 1/4" = 1~

END CLOSURES DETAILS

FLORIDA BUILDING CODE (Non High Velocity

Hurricane Zone)

©2017 TILTECO, INC. 0.040” BERTHA Lhcﬁ__éci STORM PANEL Le.
(2.25”" DEEP) DRAWN BY:
07/25/17
___l _ ECO EASTERN METAL SUPPLY, INC iy
INC. 4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
S N T e s e CCRING COMEANY PHONE: (561)209-8263, FAX: (561)841~1716 17-094
Fhone : ﬁu&u»mumwulu%ua.m_w“m.. (305)871-1531 prTT e = SATE DRAWING No
WALTER A. TILLIT Jr. P.E. : o 15042 |or/zs] 3
FLORIDA Lic. # 44167 5 ~ SHEET 9 OF 15




Max. PANEL LENGTH Max. ANCHOR SPACING

MAXIMUN L (Ft) "s* (in.)
A.S.D. DESIGN 0.040" ALUMINUM PANEL @ _uxzmﬁm@h-
_ummmwmm M_wé% — ¥ MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE.
M i 3 4 6| Secrions: | secrion: | secmiow: ALL SECTIONS FOR E. D. LESS THAN 3 1/2”, REDUCE ANCHOR SPACING BY
2801245 10 2 G MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING
ey o - - FACTORS. (NOTE : Min. E. D. FOR CALK—IN ANCHORS IS 2 1/2%).
+25.0, -25.0 | 12°-0 12’0 17'-9 8'-6 12"+ FOR THIS OPERATION TO BE POSSIBLE, REDUCED SPACING OBTAINED
USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING
+25.0, 300 | 12°-0" 11-5 S a_g" p— INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.
FACTOR
+30.0, =350 11'-1" 10'-6" 9'—11” 8'-6" 12"++
ACTUAL E. D.
PANELMATES TAPCON SILID-SET CALK—IN
+35.0, —40.0 | 10'-5" g9'—10” 9'—-4" 8'-6" 12"++
3" .86 - .78 .75
+40.0, —45.0 —10" g —g” —g" o =
9'—10 9'—4 8'-9 8 12"+ 2 12 Bz _ — 50
+45.0, -50.0 | g'—4" 8-10" 8'—4" 8'-6" 127 2" .50 - = -
1 1/2" - .35 - -
+50.0, -55.0 | 8'-10" 8'-5" 7'=11" = 12"++
+55.0, —60.0 8'-6" 8-1" 7'=7" - 12"++
ANCHORS LEGEND
+60.0, —65.0 8’0" 7'-g” 7'—4” - 274+ ANCHOR
! ANCHORS WIN
+65.0, —70.0 i i i g i _ . TYPE SPACING
7'-5 7'-5 7'-0 12"+ y .-:3-\\\\\\\\
TAPCON,/ . e A Tl 2
+70.0, -75.0 | 6'—11" 6—11" 6'-9” = 1274+ PANELMATES o ... Om.ﬂ:p ...lM..
oo m Co, a\% =
N ¥ “\WOENSE £ Y
+75.0, -80.0 6'—-6" 6'-6" 6'-6" . 12" CALK—IN 2.5 ..a & . -
8 3 5
: h._QN . M
+80.0, —-85.0 6—1" 6'—1" 6'—1" - 12" SOLID—-SET 3.5" 3 .m ¥ _m
: 8
$ N
+85.0, -90.0 | s5-9" | 5-9 | s5_g - 12" ., vm...)ﬁmom Am%
105 Aok
* SEE NOTES ON SHEET 11 THRU 15 OF 2’9 ORIVT.~ .? o
+90.0, -95.0 | 56 56" 5_g" _ 12" 15 FOR PANEL LENGTH LIMITATIONS FOR =, .m..m.\ m.xrn.v o
FLOOR/CEILING INSTALLATIONS INTO WOOD \\\\.\ OZ>¢. _‘._
FRAME BUILDINGS. Y L
+95.0, —100.0) 5'-2" 5'—2" 52" - 12"
+100.0, —=105.00 4'-11" | 4—11" | 4'—11" - 12"
+105.0, —110.0] 4'-g" 4'—g” 4-g” - 12"
+110.0, —-115.00 4'-g” 4'—6" 4'—8" = 10"
+115.0, —=120.00 4'—4" 4'—4" 4'—4” - 12"
+120.0, —125.00 4'—2" 4'—o" 4—2" - 127
FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
+125.0, —130.0| 4'-p* 40" 4'-0” = 12" ©2017 TILTECO, INC. 0.040" BERTHA L.._.QQ\ZQ\_& STORM PANEL Le.
NNMU. UWD@ DRAWN BY:
T SECTION 84 IS ONLY VALID FOR MAX. A.S.D. DESICN PRESSURE RATING r/2s/17
D B s DECE VAN TiLIEC O ... \| EASTERN METAL SUPPLY, INC o
5 m o INC. 4268 WEST ROADS DRIVE
T+ Mox. ANCHOR SPACING FOR SECTION 8A SHALL BE 6" O.C. TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-094
6355 N.W. um__,“\ St., Ste. 305, VIRGINA GARDENS, Fl. 33166 PHONE: (561)209-8263, FAX: (561)841—1716
, z Phone : (305)871-1530 . Fax : (305)871—1531
NOTE: MINIMUM PANEL LENGTH IS 3'—0”" e e vt T oewerrov T o | v o | oocwrnon | o | ORAWING No
WALTER A TILLIT Jr. P.E. ! OD 15042  l07/25/17] ¥ SHEET 10 OF 15
FLORIDA Lic. # 44167 2 4




-

#14 S. S. HEX WASHER HEAD

WOOD SCREWS @ 12" 0. C. W/
“| | 1 3/4" Min. THREADED PENETRATION.
b

WOOD HEADER _
REQUIRED _

=

Q

@

W Q

| 2

¥}

L

A | 2

=

_—- : 14

_, g

~J

1" Min. | m

|__separaTiON

TO EXISTING | |@ g

GLASS X

i =

1/4"%—-20x3/4" 5. S. M. S.
7/8% x 3/32" WING NUT
© EVERY STUD @ 12 o.C.

VJ@ Cont.

#14 S. S. HEX WASHER HEAD

12" x 4" PLATE]

WOOD SCREWS @ 12 0. €. W/

-

#14 S. S. HEX WASHER HEAD

£ WOOD SCREWS @ 12" 0. C. W/
g 1 3/4” Min. THREADED PENETRATION.
| [ |
] — w .2507
-500 _ Max.
> 1 T
Min. | | i
| | 2) Cont.

WOOD HEADER

: N

| S

REQUIRED _ &

195}

(N - ) f

17 Min. | g

| SEPARATION__| "

70 EXISTING W b
GLASS 4

|

L A 2
¥ -~

e A o
— g

&

3

3

\\\
5

£Q FQ

\1/4%9-20 x 3/4" 5. S. M. S.
W/ 7/8% x 3/32" WING NUT

g 4 e ® 12" 0. C.

REQUIRED =

#14 S. S. HEX WASHER HEAD

WOOD SCREWS @ 12" 0. C. W/

#14 S. S. HEX WASHER HEAD
\\ 1 3/4" Min. THREADED PENETRATION.

Sl

! i 1/4" 6-20 x3/4" BOLTS
W/0.675"%0.675x1/8" SQ.
SCREW HEAD AND W/7/8°x3/32"
Cont. WING NUT @ 12" 0. C.
71
|
|
_
| &
F £
, 3
Iy
I 5
WOOD HEADER _, i
REQUIRED | S
Ly
17 Min. | &
SEPARATION TO -
EXISTING GLASS f S
| g
3 ~
. A m
—e -... _ g
| x
,_ §
OR @
CONT. /
_IEI_ e ,
] |

/|‘\ﬁ §-20 x3/4" BOLTS
W/7/8" x 3/32" WING NUT
e 12" o. C.

=

. [«

2" x_ 4" PLATE|
REQUIRED Fon

#14 S. S. HEX WASHER HEAD

WOOD SCREWS @ 12" 0. C. W/

REQUIRED | 1 3/4" Min. THREADED PENETRATION.

NN R R NN

-

WOOD SCREWS @ 12" 0. C. W/
1 3/4" Min. THREADED PENETRATION.

-

WALL MOUNTING INSTALLATION
ALTERNATIVE 1 SCALE : 1/ = 1

NOTE FOR _COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED

WALL MOUNTING INSTALLATION
ALTERNATIVE 2 SR AT

IN ANY WAY TO SUIT ANY INSTALLATION.

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING
AND Max. PANEL LENGTH AS PER SCHEDULES SHOWN ON SHEET 10 OF 15
EXCEPT THAT PANEL'S LENGTHS FOR FLOOR/CEILING INSTALLATIONS
SHALL BE LIMITED TO 109"

2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

-s 4 \‘\\\\\\\\\é\\

...../%m..ﬂ A. .Qk\\\

" se8s00s,,

n"‘.

>

ECH ENS

Il
0
., %

-
o
sseane®®

»

o
0500060087 "

®eq

Leg

o,

1 3/4" Min. THREADED PENETRATION,

-

WALL MOUNTING INSTALLATION

ALTERNATIVE 3 SR AT

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

FLORIDA BUILDING CODE (Non

High Velocity Hurricane Zone)

©2017 TILTECO, INC.

0.040" BERTHA ALUMINUM STORM PANEL

/TitTEco me \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FI. 33166

Phone : (305)871—1530 . Fax : (305)871-1531

EB-0006719

WALTER A. TILLIT Jr. P.E.

Lc.
(2.25” DEEP) DRAWN BY:
07/25/17

EASTERN METAL SUPPLY, INC DATE:

4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
PHONE: (561)209-8263, FAX: (561)841—1716 17-094
REV. Mo DESCRIPTION DATE REY. No DESCRIPTION aTE DRAWING No
1 OLD 15-042 07,/25,/17] I

FLORIDA Lic. # 44167

4

SHEET 11 OF 15




-

7/16" 0.D. x 5/8" LONG BRASS
BUSHING W/ 1/4"%8-20 x 1"
S. 5. M. S. W/ KEYHOLE WASHER

OR 1/4"0 MALE/FEMALE PANELMATE
W/ 1 7/8" Min. PENETRATION © 12" o.c

T

d

A
il

REQUIRED

1" Min.
|__SERARATION

GLASS

WOOD HEADER |

TO EXISTING |

-

1/4"0—20x3/4"
S.S M S w/
7/8%8 x 3/32"

2

2" x 4" PLATE]

REQUIRED X

A\

WING NUT ©
12* 0. ¢ |/

IEI_l_‘

Max. PANEL LENGTH (SEE NOTES BELOW)

WAL

ALTERNATIVE 4

\

Cont,

#14 S. S. HEX WASHER HEAD
WOOD SCREWS © 12" 0. C. W/

1 3/4" Min. THREADED PENETRATION
© MIDWIDTH OF PLATE.

L MOUNTING INSTALLATION

SCALE : 1/4" = 1"

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING

IN ANY WAY TO SUIT ANY INSTALLATION.

SECTIONS CAN BE COMBINED

#14 S. S, HEX WASHER HEAD

1 3/4" Min. THREADED PENETRATION.
A

A_\og SCREWS @ 12" 0. C. W/

X I 1/4” 9—20 x3/4" 5. 5. M. S.
B W/ 0.675" x 0.675 x 1/8" sQ.

SCREW HEAD AND W/ 7/8" x 3/32"
Cont \ WING NUT @ 12" 0. C.

+ L

WOOD HEADER
REQUIRED

1% Min.
| SEPARATION __|
70 EXISTING

GLASS

—

1/4"9-20x3/4"
S.5 M s W
7/8% x 3/32"

WING NUT @
12" 0. C. 1/

Max. PANEL LENGTH (SEE NOTES BELOW)

]

J

|

D)

/ Cont.

12" x 4" PLATE] T | “F14 S. 5. HEX WASHER HEAD

WOOD SCREWS @ 12" 0. C. W/
1 3/4” Min. THREADED PENETRATION
©@ MIDWIDTH OF PLATE.

REQUIRED Fon

h

WALL MOUNTING INSTALLATION

ALTERNATIVE 5

SCALE : 1/4" = 1"

INSTALLATION DETAILS ON EXISTING

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR MAX. AS.D. DESIGN PRESSURE RATING
AND Max. PANEL LENGTH AS PER SCHEDULES SHOWN ON SHEET 10 OF 15
EXCEPT THAT PANEL’'S LENGTHS FOR FLOOR /CEILING INSTALLATIONS

SHALL BE LIMITED TO 109"

2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

-

ﬂ .muow-
F

#14 S. S. HEX WASHER HEAD
WOOD SCREWS @ 127 0. C. W/
1 3/4" Min. THREADED PENETRATION.

.250"

ilm.x.

1

ANANAN

WOOD HEADER
REQUIRED

17 Min.
SEPARATION.
TO EXISTING

GLASS

1

Cont.

—®

1/4"8—20x3/4"
S.S M 5 W/
7/8% x 3/32"
WING NUT @ —
1250 ¢

1500

@ 247

wooD STuD

0. C.

REQUIRED

| —

Cont.

Max. PANEL LENGTH (SEE NOTES BELOW)

#14 S. S. HEX WASHER HEAD
WOOD SCREWS © 12" 0. C. W/

- 1 3/4" Min. THREADED PENETRATION
= @ MIDWIDTH OF PLATE.

BUILD OUT INSTALLATION

ALTERNATIVE 6

BUILDINGS

SCALE : 1/4" = 1"

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2017 TILTECO, INC.

0.040” BERTHA ALUMINUM STORM PANEL

N liLlE

CO inc.

\

Phone :

TILLIT TESTING & ENGINEERING COMFANY

6355 N.W. 36th. St, Ste. 305, VIRGINA GARDENS, FI. 33166

(305)871-1530 . Fox : (305)871—1531
EB-0006719

WALTER A. TILLIT Jr.

FLORIDA Lic. # 44167
)

P.E.

4

L.C.
(2.25" DEEP) DRAWN BY:
07/25/17
EASTERN METAL SUPPLY, INC DATE:
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
PHONE: (561)209-8263, FAX: (561)841—1716 17-094
REV. No DESCRIPTION oAt | Rev wo DESCRIPTION DATE DRAWING No
1 o 15-042  |oz/z5/17] s

SHEET 12 OF 15




-

7/16" O.0. x 5/8" LONG BRASS
BUSHING W/ 1/4"8—20 x 1"

5. 5. M. S. W/ KEYHOLE WASHER

OR 1/4"0 MALE/FEMALE PANELMATE

W/ 1 7/8" Min. PENETRATION @ 12" o.c

T

T

£EQ EQ

“ WOOD HEADER |
REQUIRED

1 17 Min. i
SEPARATION __|

TO EXISTING
GLASS

£

Max. PANEL LENGTH (SEE NOTES BELOW)

WooD
PLATE
REQUIRED

ALTERNATIVE 7

MIDWIDTH OF PLATE

WALL MOUNTING INSTALLATION

7/16" 0.D. x 5/8" LONG BRASS
BUSHING W/ 1/4"6-20 x 1~

S. 5. M. S. W/ KEYHOLE WASHER

OR 1/4"0 MALE/FEMALE PANELMATE

W/ 1 7/8" Min. PENETRATION @ 12" o.c

SCALE : 1/4" = 1"

-

#14 5. 5. HEX WASHER HEAD \
WOOD SCREWS W/ 1 1/2" Min.
THREADED PENETRATION © 4" o.c. T 47" x 8" (Min.) EXISTING
£ 0 WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WOOD
BEAM TO BE CERTIFIED
e BY REGISTERED ENGINEER
OR ARCHITECT FPRIOR
. TO SHUTTER INSTALLATION.
w0
I
Q
1
e : _
|
|
I I % Cont.
| |
[ | =
. s
i 17 Min. | Q
{__SEPARATION I ) o
" TO EXISTING [ @
I GLASS ! ”
I | E
1 | Q
J [ 3
—- | i
|
! , <
i ¥ =
| ©
, — g
! | ~
I |
| = g
) . :
| 7/8% x 3/32" , 5
[ WING NUT @n/ ! =
; 12" 0. C |
Ll, |
|
ALTERNATE LEG @%@ ]
EQSZI/ Cont. |

L —2" x 67
WOOoD DECK
<> REQUIRED

/\?ﬂ S. S. HEX WASHER HEAD
WO0D SCREWS W/ 1 1/2" Min.
THREADED PENETRATION @ 47 o.c.

CEILING & FLOOR MOUNTING INSTALLATION
ALTERNATIVE 8 HES

b
#14 5. 5. HEX WASHER HEAD ——
WOOD SCREWS W/ 1 1/2" Min. N,
THREADED PENETRATION @ 4" o.c. / ~sf | 4" x 8 (Min) EXISTING
llm?,d'mol. WOOD BEAM REQUIRED.

STRUCTURAL ADEQUACY
OF EXISTING WOOD

BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

2

| 1/4" 8-20x3/4"

| 5.5 M S5 W

| 7/8" x 3/32

I WING NUT @ I

1 12 0. C. _
|

|
Cont. I
I
I
|

I’I — L’(II. e
A= v
| SEPARATION
70 EXISTING W
GLASS ,

| L4 e-20x3/an !

—0

————Max. PANEL LENGTH (SEE NOTES BELOW,

_” S. 5. M. S. W/ [
| 7/8" x 3/32 "
| WING NUT @ H
11270 ¢ ,
Ll I ALTERNATE LEG
c I LOCATION
ont. !
_ ——— _
\ 2" x 6"
wooD
DECK
Fo | EQ REQUIRED

#14 5. 5. HEX WASHER HEAD
WO0D SCREWS W/ 1 1/2" Min.
THREADED PENETRATION @ 4" o.c.

CEILING & FLOOR MOUNTING INSTALLATION
ALTERNATIVE 9

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

" I \\\_\\\\\\\.\\
e

%
)
>

&

Sy

1"‘

o
o

‘;
N
o

" .- D- '“
S ) ‘
NP 4167 3
%y
NOTES: : )
ATE OF S %
1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING AR opod .~ &c K
AND Max. PANEL LENGTH AS PER SCHEDULES SHOWN ON SHEET 10 OF 15 Y x.w, ox_o Nl
EXCEPT THAT PANEL'S LENGTHS FOR FLOOR/CEILING INSTALLATIONS A %%\0 ,mnyn.v o
SHALL BE LIMITED TO 109" %, (UNAL EY o
L agf
Coss055088*
2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

SCALE : 1/4" = 1”

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2017 TILTECO, INC.

0.040" BERTHA ALUMINUM STORM PANEL

/TiLlEcom. \

Phone :

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, FI. 33166
(305)871-1530 . Fax : (305)871-1531

EB-0006719

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

4

L.C.
(2.25” DEEP) DRAWN BY:
07/25/17

EASTERN METAL SUPPLY, INC DATE:

4268 WEST ROADS DRIVE
WEST FPALM BEACH, FL. 33407
PHONE: (561)209-8263, FAX: (561)841—-1716 HN'QQ§
REV. Ne DESCRIPTION pare | Rev. Ne DESCRIPTION DATE DRAWING No
7 OLD 15-042 07/25/17] ¥

SHEET 13 OF 15




1/4" 8 LONG LAG SCREWS
@ 670 C W/ 1 3/4" Min.
THREADED PENETRATION

TO EXISTING WOOD HEADER

Max.

Cont.

1
[
|
|
I
| |
_ |
_
i g
wooD | “ 2
HEADER .
mmcc\mm_u\x_ W @D M
ExisTNG— | h | el
GLASS | | Ly
, I @
| Iy ] e
| ! 5
_
[ _ _ 3
1 1" MINMUM | | 5
SEPARATION TO | | .
|EXISTING GLASS | O g
! | =
I | Q
I , %
i, g | | 3
2 hh“m " , 1/4” 9-20x1" _
| .
REQUIRED | | BOLTS W/7/0%x

EQ FQ

\

L.

" 3/32" WING NUT @
12 0. ¢

\ 1/4" 9 LAG SCREWS

© 6" 0. C W 1 3/4" Min.
THREADED PENETRATION

© MIDWIDTH OF PLATE.

© 60 C W 1 1/2° Min__/]

1/4" o LAG SCREWS

€ 60 C W 1 3/4" Min.
[ THREADED PENETRATION

TO EXISTING WOOD HEADER

T 4" x 8" (Min.) EXISTING

WOOD BEAM REQUIRED.

#14 S. 5. HEX WASHER HEAD A
WOOD SCREWS W/ 1 1/2" Min. |
THREADED PENETRATION @ 4 0.C.

REQUIRED W

17 MINMUM |
| SEPARATION TO
| EXISTING GLASS

A
.(17

EXISTING \

GLASS

DETAIL 2 \

!

4"

"
.

|

P g% |
PLATE— :
mMQQ__..m_mD\ :

=l

£Q EQ

———Max. PANEL LENGTH (SEE SCHEDULE)—

1/4" 6-20x1"
BOLTS W/7/8%x
3/32" WING NUT |
@ 127 0. C

1/4" ¢ LAG SCREWS

THREADED PENETRATION

MIDWIDTH OF PLATE.

7/8" ¢ x 3/32"
WING NUT @ —,
@ 6" 0. C. \

<

8o

\eerp

BOLTS, W/3/4" SLOTTED HEAD,
INTERIORLY mmto@mhm

=
|

875" @
438" 0
l
==

|
| |
-
|
1

| (

DETAIL 2 — INSTALLATION OF 1/4"x1” |*

SECTIONS 10

1/4"-20x1" 5.5. SIDEWALK
FIXED T

PANEL THRU KEY HOLE
6" 0.C.TW/1/4"-20 NUT A

o

1/4"

@
REAR.

h—
f

ALTERNATIVE 108

SCALE : 3/8" = 1"

p

Cont.

@

\\ INTERIORLY REMOVABLE PANEL (D

I S —F FQ—
: | e STRUCTURAL ADEQUACY
#14 5. S. HEX WASHER HEAD | m@ﬁxﬂ%ﬂw ﬂm.mwmmu
WOOD SCREWS W/ 1 1/2" Min. BY REGISTERED ENGINEER o
THREADED PENETRATION @ 4” 0.C. | i=EQ<8-EQ— OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

| |

mx__mﬂ_.z?\_,

Glass :

|._..|’
T

—1" MINIMUM—}

i separaTION TO
| EXISTING GLASS

0
I
T TS
1
|
|
|
|
|

7/8" x 3/32"

Max. PANEL LENGTH (SEE NOTES BELOW)—

EXISTING — |

47 x 8" (Min.) EXISTING

~——_WOOD BEAM REQUIRED.

STRUCTURAL ADEQUACY
OF EXISTING WOOD

BEAM TQO BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

\
T

N

——1" MINIMUM— |
I SEPARATION TO |
EXISTING GLASS |

,

!@

— DETAIL 2

7/8" ¢ x 3/32°
+—WING NUT @

Max. PANEL LENGTH (SEE NOTES BELOW)

_ = WING NUT @ 12" 0. C.

L =" L 27 x 6" |
X

_ Cont. : 7 Cont. WOOD DECK— “
h ALTERNATE | 2" x 6" AL TERNATE ' REQUIRED , _
| —LEG LOCATION WOOD DECK —LEG LOCATION \ | |
,
) vl REQUIRED \ / , i

— 1

gl

W/ SIDEWALK BOLTS (SEE DETAIL 2)

“— CONNECTED TO ({8 THRU 5/8%

© 6" 0.C & FASTENED
AT REAR W/7/8%x3/32" WING NUT
© EVERY SIDEWALK BOLT.

HOLES AT

\ |

#14 S. S. HEX WASHER HEAD |
WO0D SCREWS W,/ 1 1/2" Min.
THREADED PENETRATION @ 4" O.C.

ALTERNATIVE 11A

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

VALID FOR PANELS (1) USED JOINTLY

WITH INTERIORLY REMOVABLE PANELS (1)

NOTE FOR _COMBINATION OF SECTIONS:

HOLE @ 6" o.C.

-9

REMOVABLE
PANEL

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

NOTES:

SIDEWALK BOLTS @ REMOVABLE PANEL

1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING
AND Max. PANEL LENGTH AS PER SCHEDULES SHOWN ON SHEET 10 OF 15
EXCEPT THAT PANEL’S LENGTHS FOR FLOOR/CEILING INSTALLATIONS
SHALL BE LIMITED TO 109"

FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

INTERIORLY REMOVABLE PANEL () —
W/ SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED _TO {8 THRU 5/8"
HOLES AT (8) @ 6" 0.C & FASTENED
AT REAR W/7/8"#x3/32" WING NUT
© EVERY SIDEWALK BOLT.

#14
woop

S. S. HEX WASHER HEAD
SCREWS W/ 1 1/2" Min.

THREADED PENETRATION @ 4" 0.C.

FLORIDA BUILDING CODE (Non High _\m\oﬁ..a\ Hurricane Zone)

©2017 TILTECO, INC.

0.040” BERTHA ALUMINUM STORM PANEL

/ TLTECO e \

Phone :
EB-0006719

TILLIT TESTING & ENGINEERING COMFPANY
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
(305)871-1530 . Fax : (305)871-1531

FLORIDA Lic. # 44167

WALTER A. TILLIT Jr. P.E, !

4

L.C.

(2.25”" DEEP) DRAWN BY:

07/25/17
EASTERN METAL SUPPLY, INC PATE:

4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
PHONE: (561)209-8263, FAX: ﬂ.mmnbm#“lAN“m MVIQ.@A
REV. Mo DESCRIPTION DATE | REV. Mo DESCRIPTION DATE DRAWING No
oD 15-042  |07/25/1] 3

SHEET 14 OF 15




@ 6" 0. C W/ 1 3/4" Min.
—— THREADED PENETRATION
TO EXISTING WOOD HEADER

2

8
N

Max.

soo - T

1/4" 0 x LONG LAG SCREWS

1/4" ¢ LONG LAG SCREWS
@ 6”0 C W/ 1 3/4" Min.
THREADED PENETRATION

TO EXISTING WOOD HEADER

:
[~
5
]

Max.

¥

™

),
Q
3

&

~Max. PANEL LENGTH (SEE SCHEDULE)-

Clmit )
(1)1/4"-20x1/2" S.5. - N
‘ woop SIDEWALK BOLT Wy 4 -
HEADER — I , HEADER 1/4"-20 JACKNUT | —D
REQUIRED | | D REQUIRED 1" MINIMUM
f _ SEPARATION TO ¥ |
EXISTING GLASS TIT T q
, _ [ _ | g3
| 2 | (31/4720x1/2" 5.5, R s g
| 1" MINIMUM | 3 | 5 mamwﬂ v A
_ SEPARATION TO | ? _ a0 ot 4
| EXISTING GLASS | v [ (2)1/4™-20x1/2" S.S. e
| \/\ | o 7 mam.\kw BOLT W/1/4" ﬁ
\ P SR —20 JACKNUT EA. SIDE. b
_ a m | >
ﬁ ] g ! |
| | S _
| | g _ - 7
[ P X (3)1/4"-20x1/2" S.5. a|
| ! SIDEWALK BOLT W/ £z
I I % [ 1/4™=20 JACKNUT =
_ | 3 | NS
2% x 4" % 5 f 2" % 4" . . == |
PLATE - | 1/47 6-20 x 3/4 f | PLATE - | 1/47 ¢-20 x 3/4 |
_ BOLTS W/ 7/8" x__| —®D [ BOLTS W/ 7/8" x_| ,
REQUIRED | i 3/32" WiNg nuT @ f REQUIRED | | 332" wNG Wt e [ | W
E_l—/ 12 0. C 4 w _ L 12" 0. C. 4 | ﬂ
[«] { _ | o ] — | ! r_h
W ' ﬂ | W ' | [ _
8 / w g O
[ ,
\ ok Cont.
, \
/ 1/4" 8 LAG SCREWS \ 1/4" 8 LAG SCREWS
e 6”0 C w/ 1 3/4" Min. @ 6" 0. C w
THREADED PENETRATION 1 3/4” Min. PENETRATION
© MIDWIDTH OF PLATE. @ MIDWIDTH OF PLATE.
h A
ALTERNATIVE 13A
SCALE : 1/8" = 1"
NOTE _FOR COMBINATION OF SECTIONS: VALID FOR PANELS (1) USED JOINTLY
WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.
NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING
AND Max. PANEL LENGTH AS PER SCHEDULES SHOWN ON SHEET 10 OF 15
EXCEPT THAT PANEL'S LENGTHS FOR FLOOR/CEILING INSTALLATIONS
SHALL BE LIMITED TO 1097

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

SIMILAR

1/4"8x7" ELCO male

ANCHORS @ 6" O.C.
TO EXISTING PLYWOOD

EXISTING
1 1/2" MIN. _ BRICK VEENER
PENETRATION "\ L2* N
[ Max. | 1/476x7” ELCO male
T\ | | PANELMATE TVAS ANCHORS
\ e 6" o.c.
\ 3.500"
\
\
,
. )
[ Q 2
| (O 23
HH_WH. i i | R
i
| T _ 7
%oob\\ 2" f
HEADER i B W)
REQUIRED [ " Cant.
3. S0 U ) | )
i1 | EXISTING _
" STEEL ANGLE LINTEL |
s AS APPLICABLE !
I O
\// | M_

1" MINIMUM

/

274"
wooD \;Arln -
PLATE ]| 77—

1 1/2" MIN.

EXISTING

\ BRICK SILL

/

Il
| | SEPARATION TO

EXISTING GLASS

—Max. PANEL LENGTH =

.
!
RATION T~ 5 EXISTING
PENETRATION 2 -~ FLASHING IF _ 1/4" 9-20 x 3/4"
: | APPLICABLE| [ BoLTS Wy 7/5% ﬁ
£ Y :
7 3/32 WING NUT |
I ) I i @ 127 0. ¢ ",
[ F =57
PANELMATE TVAS _ 1 Max
\ \ g
_
| "
EXISTING 1/2 EXISTING
\ PLYWOOD BRICK SILL 1100500,
EXISTING REOQ'D (TYP o =
2" x 4" STUDS a0 () o A.\mr A. .:E e
W/ 8d NALS W 0. 7 =

@ 16" 0.C. MAX REQD

AS PER SECTION
2304 OF FLORIDA
BUILDING CODE.

ALTERNATIVE 14

BUILD—OUT INSTALLATION

SCALE : 1/8"

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

WITH INTERIORLY REMOVABLE PANELS

»

POTTTT™
® a-c

RN Y

$ R
§ R
1% i
X 0" - <3
= % . p\ \J
.l‘...\ %% Seepnee® ¢ R

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2017 TILTECO, INC.

/TiLTECO e \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St., Ste. 305, VIRGIMA GARDENS, Fl. 33166

Fhone : (305)871—-1530 . Fox : (305)871-1531
EB-0006719 s

WALTER A. TILLIT Jr. P.E. !

FLORIDA Lic. # 44167 2

0.040" BERTHA L\.Q@_\?_Qi STORM PANEL LG
(2.25" DEEP) DRAWN BY:
07/25/
EASTERN METAL SUPPLY, INC it
WEST PALY B B a7
PHONE: (561)209-8263, FAX: (561)841—1716 17-094
No DESCRIPTION oatE [ Rev. mo DESCRIPTION DATE DRAWING No
R 4 SHEET 15 OF 15




